Lesson 3.9 What killed the dinosaurs?

Death – happens to all individuals

Extinction – species is wiped out

Mass extinction – all species are killed

The probability of being killed by an asteroid impact are very small.

We do not know what killed the dinosaurs.

Asteroid theory

One massive asteroid impact – threw dust into the atmosphere. Sunlight could not get to the Earth so it became very cold.

The asteroid hit sulphur-rich sediments and caused acid rain. 

Volcano theory

Many extinction episodes caused by eruptions of massive size, producing gases and then acid rain.
